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NUMERICAL QUESTIONS

1. AT NS 35 gfa Fel & AT W, Teh 3UHFAT 15 el Wledr gl Ja HAT T7 9ia
el & ST g, al 3Tl AT g 12 st I§ STl gl ar AR Y hrAag o Hr orar
il

Suppose at the price of Rs. 5 per banana a consumer buys 15 bananas. When the price

becomes Rs. 7 per banana, his demand falls to 12 bananas. Then calculate the price elasticity of
demand.
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2. [@FT "ol & qfd 1 FAT g A1a @S (Find the price elasticity of supply in

the following table).

A9 $r AT/ Price (%)

adt 1% AT Quantity Sold (Kg)

P1

100

Q1

10

P2

120

Q2

12
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3. fArAtafad arRoft 7 Fer FWICT dUT HHATT YT H IT0TAT FTS|
Calculate the total revenue and marginal revenue in the following table.

Marginal Revenue

tput (Q) rice (%) Total Revenue
0 10
1 10
2 10
3 10
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4. GT: HE I AT TAT Yfd ash 8 JhR 5- Qd = 1000 - P @ur Qs = 700 + 2P &
AJelel AT TUT TJelel HAET HT 01T RSN

The demand and supply curve of salt is as follow - Qd = 7000 - P and Qs
= /700 + 2P Then calculate the equilibrium price and equilibrium quantity.
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5.f%T gRoNY & 3tEa 3cuea dur AT 3cuesT Y IoTaT RfATI (Calculate

Average Product and Marginal Product)

HH T SHSAT | Fel 3cUIG T 3curge | HHT 396

(Q) (Total Product)  (Average (Marginal
Product) Product)

0 0

1 5

2 15

3 30

4_ 40
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6.0F aFq HT hAT 10 TF qfcd 100 3HEAN &1 FAT ToHT T12 gt W qfet dga
150m§mam%aﬁ1ﬁraﬁaﬂamaﬁlﬁr¢| (3)

The Price of a commodity is Rs. 10 and the supply is 100 units. If the price increase to
Rs. 12 and supply increase to 150 units, Calculate the price elasticity of supply.
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7.87 € GOl 7 3raa 3iaa R aerg, g 9Radt aeTa, 3tedshrens 3iEd &eTd Ud
eqehTolle] HIATT Hedl I AU HIToTl

Calculate the missing values of average fixed cost, average variable cost, short run period
average cost and short run period marginal cost in the given table: (2014)

Output TFC TVC TC AFC AVC BSAC  SMC

0 10  + 40 - : -
1 40 20 60 ? 20 6O 20
2 10 36 76 20 18 P 16

3 40 48 88 13.33 P 29.33 P
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8.7AFT THST & TEIAT F TSI 3T FT 01T HIfol : (2015)

Calculate national income with the help of following data:

(i) Gross National Product at market price Rs. 1000 crore
(i) Depreciation (Hed i) Rs. 200 crore
(iii)  Indirect Taxes (3TYcT&T ) Rs. 150 crore

(iv)  Subsidy (3IcTsT) Rs. 250 crore
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9. FeaATaT@a sl I TSET I &7 AT fifer: (Calculate National Income)

Aa Z(#13)
1. ALgadt oetd (Intermediate Costs) 1500
2. fssht  (Sales) 4500
3. Tl & aRade (Change in Stock) 600
4. TR gt &1 3usnar (Consumption of Fixed Capital) 700
O. Yy YcTat AT (Net Indirect Tax) 240

6. facem @ e ey @rere 3T (NFIA) (-)200
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10. 92T Ifg 3T T20 FUT & dohY T40 T oY T ITAT
15 FUT F FeHT 32 FUT FT IRTdT g3, A WATT 3T ygfr
IMOTT HU

Question: If income increases from X20 crore to %40 crore, resulting in consumption

increasing from X15 crore to X32 crore, then calculate the marginal propensity to
consume
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11.  gfe fRdY srdeaaear & 10 U3 F1 IRAF 3T F @ 3T &
e gefer T 60 FUS T § a JorEw Hr J0ET HifST

Question: If an initial investment of *10 crore in an economy leads to a final
increase 1n income of X60 crore, calculate the multiplier.
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12. UF HeqaedT & AN A & 7§ fArafaf@a guan @ (1) swdhr T 3T F G
TR AR (1) TET T F FJAT FA W G99, FT IRFAT Pfod|

3UHRT Eelel: € =200 + 0.9y

fafaaer =33 3000

Question: Based on the following information about an economy, calculate
(I) The equilibrium level of national income, and

(1) Savings at the equilibrium level of national income.

Consumption function: C = 200 + 0.9Y
Investment expenditure: 3000
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